
 

 

 

 

 

ml;rufzpj Nfhitfspd; nghJ klq;FfSl; rpwpaJ.  

nghJ klq;FfSk; rpwpaijf; fhzy;  

cjhuzk; :- 6> 9> 12 vd;Dk; vzpfspd; ngh.k.rp Kjd;ik fhuzpfspd; 

ngUf;fkhf vOJtjd; %yk; fhz;Nghk;. 

6    =   2 x 3  = 2' x 3'  

9    =  3 x 3  = 32 

12  =  2 x 2 x 3 = 22 x 31 

2 ,d; Rl;bapd; kpfg;ngupa tY   = 22 

3 ,d; Rl;bapd; kpfg; ngupa tY  = 32 

 ngh.k.rp  =  22 x 32 

   =  4x9 

   =  36  
 

cjhuzk; :- 2 (I)  6x2, 8xy, 12y 

   6x2    =  2 x 3 x x x 2     = 21 x 31 x 22 

   8xy   =  2 x 2 x 2 x x x y    = 23 x x1 xy1 

   12y  =  2 x 2  x 3  x y                = 22 x 31 x y1  

 

ngh.k.rp  = 23  x 31  x  x2  x y1 

  =  8 x 3 x x2 x y1 

  =  24 x2 y 

gapw;rp  

I. 12, 18, 24 

II. 20, 30, 60 

III. 4x, 6x2, 15xy2 

IV. 3ab, 4ab2, 6a2b,   

V. 7ab, 28a3c, 40c2b3 



 


